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Ecology Review - Answers


Date: _____________
Multiple Choice:  Select the best answer
1. Which of the following includes only abiotic features?

a)  air, water, deer, soil
b)  air, water, soil, grass
c)  temperature, wind, light, water

2. Which definition is correct?  Correct the incorrect answers.

a)  a population can contain more than one species F community
b)  an ecosystem includes both biotic and abiotic features T
c)  a community refers to a single species F population
d)  a habitat describes the role of an organism in its ecosystem F niche
3. Which statement accurately describes photosynthesis?

a)  photosynthesis is a process by which producers use light energy to make food

b)  photosynthesis is performed by green plants and some micro-organisms

c)  photosynthesis requires both carbon dioxide and water

d)  all of the above

4. The process of cellular respiration

a)  uses sunlight to make food

    b) releases energy from food using carbon dioxide

c)  releases energy from food using oxygen  d)  stores energy and gives off carbon dioxide

5. Which of the following represents a producer-consumer relationship?
a)  hawks eating snakes
b)  rabbits eating grass
c)  earthworms eating dirt

6. The size of a population that can be supported indefinitely by the resources and services of an ecosystem is known as its

a)  carrying capacity

b)  ecological footprint
c)  exponential limit

d)  niche

7. Which situation is an example of biomagnification?

a)  a bear eats a large meal and stores the nutrients as fat

b)  a frog is poisoned by the nearby use of pesticides and dies soon after

c)  a hawk eats a fish that has eaten many smaller aquatic animals, which all had toxins in their bodies

d)  a caterpillar feeds on leaves that contain toxins, and the toxins are stored faster than they are eliminated

Short Answer and Matching
8. Identify each of the following as a population, community, or ecosystem.

a)  the deer in a meadow   population
b)  all the organisms in a forest and their surroundings   ecosystem
c)  the brook trout in a stream   population
d)  all organisms in a forest   community
9. Describe two abiotic factors and two biotic factors that could affect a population of squirrels.

abiotic – shelter, fire, weather, water, nutrients, space, pollution
biotic – predation, parasites, competition, food source, humans
10. Snapping turtles eat frogs, frogs eat grasshoppers, and grasshoppers eat grass.

a)  construct a food chain using the above organisms.

grass ( grasshopper ( frog ( snapping turtle
b)  what happens to these organisms when they die?  decomposers break them down and release the nutrients back into the soil
c)  what is the source of energy for the producers? sun
d)  if the grass was sprayed with a pesticide, in which organisms would you find the highest concentration of pesticide? snapping turtle (biomagnification)
11. What is the difference between bioaccumulation and biomagnification?

bioaccumulation – the more an organism eats, more toxin builds up in that organism
biomagnification – the higher a species in a food chain, the higher the amount of toxin
12. Use the following food chain and identify a producer (algae) , a consumer (insect, cod fish, seal, killer whale), an omnivore (insect or fish), a herbivore (insect), a carnivore (cod fish, seal, killer whale), and a secondary consumer (cod fish).
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13. Why has the level of carbon dioxide in the atmosphere been steadily increasing since the mid-19th century?  burning of fossil fuels and propane and gas, cutting down of forests for lumber or for space
14. You drive past a pond that is covered in a layer of algae.  Why might this have happened?

increase in fertilizer use (nitrogen run off)
15. A bird called the oxpecker searches the hides of large mammals for parasites, which it eats.  Identify whether the relationship between the bird and the mammal is an example of predation, competition, mutualism, or parasitism.  Explain your answer.

mutualism-both benefit
16. Describe the three types of symbiotic relationships.

mutualism – both benefit
commensalism – one benefits, the other isn’t harmed or benefitted by it

parasitism – one benefits, one is harmed
17. Give an example of an introduced species and describe how it has affected an ecosystem.

Asian Long-Horned Beetle, Eurasian Watermilfoil, European Starling, Purple Loosestrife, Sea Lamprey, Zebra Mussel
18. Use the following population graph to answer the questions below:


i. Which month(s) show the largest increase in the rabbit population? June
ii. The carrying capacity of rabbits in this ecosystem is ___65_______________.
iii. A large number of wolves have invaded this ecosystem.  What do you think will happen to the carrying capacity of the rabbits in the future?  It will decrease.
19. Match the term on the left with the appropriate definition on the right.

	1. Extinct                  __c____
	a) a species that may become threatened or endangered

	2. Extirpated            __d____
	b) a species facing extinction or extirpation

	3. Endangered           __b____
	c) a species that no longer exists

	4. Threatened           __e____
	d) a species that no longer lives in a particular region

	5. Special Concern     __a____
	e) a species likely to become endangered if factors do not change


20. You drive past a pond that is covered in a layer of algae.  What does this do to the pond?

algae blocks the sunlight from reaching the plants in the pond.  The plants will not be able to do photosynthesis and therefore will not produce oxygen for the fish.  The fish suffocate and die as do the plants.
21. Give two examples of negative human impact on the environment.  What can we do to sustain that particular ecosystem?
see handout – mining, overhunting, urban sprawl
22. What is sustainability?

maintaining an ecosystem so that present populations can get the resources they need without risking the ability of future generations to get the resources they will need
23. Snowmobiling, power-boating, and even driving to the cottage contributes to air pollution.  Is this okay?  Do you think people should be allowed to pollute in order to enjoy nature?  Answer on a separate sheet of paper.
